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1 |public class MorphWithoutArray {

2 public static void main(String[] args){

3

4 int width = 145; // 0000000
5 int steps = 30; // 000000

6

7 TurtleFrame f = new TurtleFrame (600,300);

8

9 //0000 o000 3000000000000 ODOODODO

10 Turtle mO = new Turtle(width*0+10,150,0); f.add(mO);
11 Turtle ml = new Turtle(width*1+10,150,0); f.add(ml);
12 Turtle m2 = new Turtle(width*2+10,150,0); f.add(m2);
13 Turtle m3 = new Turtle(width*3+10,150,0); f.add(m3);
14

15 // steps 000000000000

16 for(int j = 1; j <= steps; j++) {

17 m0.£d(15); //m0000000O
18 m0.rt (360/steps) ; // 0000

19

20 m3.£d(24); // m3000000
21 if (j % (steps/5) == 0) // 00000steps/500
22 m3.1t(2%360/5) ; // 0000000
23

24 int x0 = m0.getX(), x3 = m3.getX(); // OO0O0O0O00O0OO
25 int yO = m0.getY(), y3 = m3.getY(); // O0ODOOODO
26

27 //000000000000000D0O0

28 ml.moveTo ((x3-x0)*1/3+x0, (y3-y0)*1/3+y0, 0);

29 m2.moveTo ((x3-x0)*2/3+x0, (y3-y0)*2/3+y0, 0);

30 }

31

32 }

33 }
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Turtle mO = new TurtleC(...
Turtle ml1 = new TurtleC(...
Turtle m2 = new TurtleC(...
Turtle m3 = new Turtle(...
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Turtle[ ] hm = new Turtle[4];

hm[0] = new Turtle(...
hm[1] = new TurtleC(...
hm[2] = new Turtle(...
hm[3] = new TurtleC(...
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hm[0] = new Turtle(width*0+10,150,0); f.add(hm[0]);
hm[1] = new Turtle(width*1+10,150,0); f.add(hm[1]);
hm[2] = new Turtle(width*2+10,150,0); f.add(hm[2]);
hm[3] = new Turtle(width*3+10,150,0); f.add(hm[3]);

000000000000 000000000000000 (003)0000000UOo0ooUoooond

for (dnt i = 0; i < 4; i++) {
hm[i] = new Turtle(width*i+10,150,0); f.add(hm[i]);
}
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//000000000000
ClickableTurtleFrame f = new ClickableTurtleFrame() ;

Ub0 40 TurtleUDODOUO mOO00O4d
OO000D000 10000000 mm{o]O0m(3]1 0000

OO0 50 int 0000 problemd OO OMNO

// 0000000

for (int i = 0; i < 5; i++) {
int j = (int) (Math.random()x5); // OO (000 400000)0O00
00 problemd i00O0OO0O(OODO jHhOODO0ODO
juobbooboodob3ssodbognd

// 0000000a
for (int i = 0; i < 5; i++) {
int x = f.getClickedX(); //0000O0OODOOOO
int y = f.getClickedY(); //YODODOOODO ( Y
int answer = x 00 0OO00OO0O0OO0OO;
if (answer JOODO0OO0O) {
answer 0000000 360000000;//00
} else {
answer JO0O00000O 220000000, //000

}
}
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for i D000 NOOOO) {
double t = ((double)i)/N; //i00000000NO000d
t, pO, pl, p2 0OOO p(t)D0ODOOO

} ooobooooooa

goooooooon
ugboboobogooboooobgad

e NOOOOODOODO (po,p1,...,pn—1000)

e ;0000 N-3000D000O
p;,pi+1,p42 0 0000000000000



goooooooon
ooooNODOOOOOooDOooooooboboooon

for (i 0O 000 N OOOO) {
int x = f.getClickedX();
int y = f.getClickedY();
Turtleld (x,y) DO00O0i00000000
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5 0000000 (cellular automata)
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1 |int size = 40; // O000Osizexsize OO0 OO OO0O
2 |int distance = 10; // 000000000

3 | TurtleFrame f = new TurtleFrame (size*distance,size*distance);

4 | f.mesh =true; // 00000

5

¢ ||00000000D000000 werld0 OO |

7

s | for (int t=0; t<size; t++) { // 00 t0 0..size 0000
» | |[000D0DOD00000D nextiorld 00D |

10 for (int x = 0; x < size; x++) // 0000000oa
11 for (int y = 0; y < size; y++) { // 0000000

12 //0000000 (x,y)y OOOOODOOOOOOOOOOOO

13 if (world[x] [y]!=null && )

14 f.remove (world[x] [y]l); /00000000000
15 //0000000 (x,yy OOOOOOOOOOOOOOOOOO

16 if (world[x][yl!=null && ||z —y| =1t

7 DDDDDDD(x,y)Dworld[x][y]DDDD‘

18 //00 (x,y) OOOOODOOODOOOOOOOOO

19 if (world[x] [y]l==null && ) {

20 Turtle m = new Turtle(x*distance,y*distance,0); //(x,y) 00000000
21 f.add(m) ; //00000040

22 0000000 G,y 0000 |

23 }

24 }

25 f.repaint(); //000000000000000D0O0Od
26

27 ‘worldl] nextWorld DO OO OO ‘

28

29 try { Thread.sleep(1000); } //000000

30 catch (InterruptedException e) {} /00000000

31 |}
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